ECT150

Homework #6 Problem Set

Sr. Professor Wheeler

Handout Problems on Network Theorems

Total Points:  

All work must be shown, and final answers boxed or underlined. No credit if work is not shown.

1. Explain in your own words the purpose of Thevenin’s theorem. How is it used in circuit analysis?

2. Draw the Thevenin equivalent circuit of the network below, giving the value of RTH and VTH. Show all calculations.
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3. Draw the Thevenin equivalent circuit of the network below, giving the value of RTH and VTH. Show all calculations.
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4. Draw the Thevenin equivalent circuit of the network below, giving the value of RTH and VTH. Show all calculations.
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5. What is a constant current source? What controls its terminal voltage? What is its internal resistance?

6. Find the terminal voltage VAB of the constant current source circuit below.
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7. Draw the Norton equivalent for the circuit of problem #2. Show all calculations.

8. Draw the Norton equivalent for the circuit of problem #3. Show all calculations.

9. Draw the Norton equivalent for the circuit of problem #4. Show all calculations.

10. Solve for the current I2 in the circuit below using the Superposition theorem.
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11. What load resistance can draw the maximum power from the Thevenin source of:

a) Problem 2
b) Problem 3
c) Problem 4

